
Scrambled Text Versions 
 
Sentence 1 
EPIB QA BPM KIXQBIT WN NZIVKM? 
 
Answer:  
What was the key?:  
 
Sentence 2 
EPIB QA WVM PCVLZML UCTBQXTQML JG WVM PCVLZML? 
 
Answer: 
What was the key?: 
 
Sentence 3 
KVOH WG HVS HOZZSGH PIWZRWBU WB HVS KCFZR? 
 
Answer: 
What was the key?: 
 
Sentence 4 
YJCV KU VJG UGXGPVJ RNCPGV HTQO VJG UWP KP QWT UQNCT UAUVGO? 
 
Answer: 
What was the key?: 
 
Sentence 5 
QBCWB WIHNCHYHN CM NBY WIOHNLS IZ WBLCMNGUM CMFUHX CH? 
 
Answer: 
What was the key?: 
 
Sentence 6 
OZSL AK LZW KIMSJW JGGL GX KAPLWWF? 
 
Answer: 
What was the key?: 
 


